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Class:

Across-Down 405

Friday.
Complete the puzzles.

A cowboy rode to an inn on Friday stayed two nights and
left on Friday. How could that be? His horse's name was
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Score:



Answer Key Date:

Teacher: Class:

Across-Down 405

A cowboy rode to an inn on Friday stayed two nights and
left on Friday. How could that be? His horse's name was

- Friday.
Complete the puzzles.

Al'g 8 2| =[13|B| 5|+ |12| + |10] = |27
+ + + + + + + +
20 19 19| = | 58 14| + | 4 | + |18 = |36
+ + + + + + + +
10 13 9| =132 16| + (11| + |14 | = (41
33 40 30| = |103 35 + |27 + | 42| = [104

Clss| - |16 6 | =|13|P|a7| - |20] - |13] = |14
13 2 4 | =7 19| - |4 | -| 7| =18
9 ) 1] =13 11| - | 7] -1 =13
13 9 1] =13 17 - 19| -|5=]3
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